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2nd Stage CBT for ALP & TECHNICIANS (CEN-01/2018)

[Roll No:
Participants Name:
Test Center Name:

Test Date: 23/01/2019
Test Time: 8:30 AM - 11:00 AM
Subject: IPart A and Exam Trade : Mechanic Diesel

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections
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ans X180
V2 20
X3 40
X+ 60

Question ID : 54335319073
Option 1 ID : 54335376551
Option 2 ID : 54335376549
Option 3 ID : 54335376548
Option 4 ID : 54335376550
Status : Answered
Chosen Option : 2
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Ans X148
v 2 40
X3 45
X4 36

Question ID : 54335319066
Option 1 ID : 54335376520
Option 2 ID : 54335376522
Option 3 ID : 54335376523
Option 4 ID : 54335376521




Status : Not Attempted and Marked For Review
Chosen Option : --
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Question ID : 54335319132
Option 11D : 54335376787
Option 2 ID : 54335376784
Option 3 ID : 54335376786
Option 4 ID : 54335376785
Status : Answered
Chosen Option : 4
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Ans of1.1.25
X225
X3 0.8
X 45

Question ID : 54335319083
Option 11D : 54335376588
Option 2 ID : 54335376591
Option 31D : 54335376590
Option 4 ID : 54335376589
Status : Answered
Chosen Option : 1
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ans X156

<2 84
v 3 40
X4 48
Question ID : 54335319079
Option 1 ID : 54335376573
Option 2 ID : 54335376575
Option 3 ID : 54335376574
Option 4 ID : 54335376572
Status : Answered
Chosen Option : 3
Q.6 3 =t F1 a9 4, 7 HX 10 FAETF ¢ sE B S wwE 5 O o T = fhena F g
IS E & FHaT?
Ans of 1.18
<217
X3 21
X414
Question ID : 54335319143
Option 11D : 54335376829
Option 2 ID : 54335376830
Option 3 ID : 54335376831
Option 4 ID : 54335376828
Status : Answered
Chosen Option: 1
Q.7 _ _ +
gfg 3A=6B =7C; A:B:C. & A 47
Ans X 1.92 3 740
v214:7:86
X37:12:6
N47 312
Question ID : 54335319101
Option 1 ID : 54335376663
Option 2 ID : 54335376661
Option 3 ID : 54335376660
Option 4 ID : 54335376662
Status : Answered
Chosen Option : 2
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335319054
54335376473
54335376474
54335376475
54335376472

Not Attempted and Marked For Review

Ans X'1.1,250

Q9 v =l 0.2 FeFs F 90 FHrex F ghr TT FA F1 FHE = kmvhr F 7T A
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< 3162

W 4 1,620
Question ID : 54335319088
Option 11D : 54335376611
Option 2 ID : 54335376608
Option 3 ID : 54335376609
Option 4 ID : 54335376610

Status : Answered
Chosen Option: 4
°61ﬁmﬁﬁaﬁﬁmmﬂvmﬁmaﬁﬁ,ﬁuﬁﬁ,mﬂaﬁ?m' &2
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v i T AATATSS
Question ID : 54335319092
Option 11D : 54335376626
Option 2 ID : 54335376625
Option 3 ID : 54335376624
Option 4 ID : 54335376627

Status : Answered
Chosen Option: 4
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Question ID : 54335319129




Chosen Option :

Option 1 ID : 54335376774
Option 2 ID : 54335376772
Option 3 ID : 54335376775
Option 4 ID : 54335376773
Status : Answered
Chosen Option : 2
Q.1 4
, g § @ Sid O 997 AT F 3caleles FT 3880 87
Ans :
X 1. g% I3 F BEE (3= 2
X 2 T 9fge o ST (S #1)
Vs dr
X 4 gIET (AT FHI)
Question ID : 54335319090
Option 1 ID : 54335376619
Option 2 ID : 54335376616
Option 31D : 54335376617
Option 4 ID : 54335376618
Status : Answered
Chosen Option: 3
Q.1 #Ho, BT Fr dFaT T I T TET ST 50 YR S e w9 1 F O 3ENaT 7,
3 fed 37 FO% & IR 35 g, IV 3wl #, v @ #
Ans « +
LEq
X2 Rz
X3 9=
X4 aa
Question ID : 54335319069
Option 1 ID : 54335376534
Option 2 ID : 54335376533
Option 31D : 54335376532
Option 4 ID : 54335376535
Status : Not Attempted and Marked For Review
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Question ID :
Option 11D :
Option 21D :
Option 31D :

54335319070
54335376539
54335376537
54335376538




Option 4 ID : 54335376536
Status : Answered
Chosen Option : 2
Q.1 =
; -100° Bfcmom = wiAEEe
A i
" W1 -148°
X2 173°
X 212°
X 4 -373°
Question ID : 54335319089
Option 11D : 54335376612
Option 2 ID : 54335376614
Option 31D : 54335376613
Option 4 ID : 54335376615
Status : Answered
Chosen Option: 1
061 FE TEAT 36 ¥ e F € 3O 109% F SET @ A § O 9% TEIm F4 87
Ans 1. 450
v 2. 400
#3360
< 4 300
Question ID : 54335319102
Option 11D : 54335376667
Option 2 ID : 54335376666
Option 31D : 54335376664
Option 4 ID : 54335376665
Status : Answered
Chosen Option : 2
Q.1 % 7
5 i GT WaldTd 9y el & HEY T FRUT aF Hhdl 27
Ans
X 1. GIIFEIRAT (ZEEEs)
X 2 &30 arsy
V'S 3EeE F FHOT
X4 e
Question ID : 54335319063
Option 11D : 54335376511
Option 2 ID : 54335376508
Option 3 ID : 54335376509
Option 4 ID : 54335376510
Status : Answered
Chosen Option: 4
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Question ID :
: 54335376437
: 54335376438
: 54335376436
: 54335376439
: Not Attempted and Marked For Review
Chosen Option :

Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

54335319045
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Question ID :
: 54335376440
: 54335376441
: 54335376443
: 54335376442
: Not Attempted and Marked For Review
Chosen Option :

Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

54335319046

Ans 1. % 480
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X3 % 520
X 4 T 540
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Question ID :
: 54335376699
1 54335376696
: 54335376697
1 54335376698
: Not Attempted and Marked For Review
Chosen Option :

Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

54335319110
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X 4. FrERIET ATST TTTH

Question ID : 54335319051
Option 11D : 54335376460
Option 2 ID : 54335376463
Option 3 ID : 54335376462
Option 4 ID : 54335376461
Status : Answered
Chosen Option: 3

Q.2 =
. A& 5x / 2 - 1/4 (Bx - 5/3) = 7/6 &, @ x F AT gl
Ans of 1. 3/4
X2 3/7
< 3 5/4
< 4 5/7
Question ID : 54335319111
Option 1 ID : 54335376700
Option 2 ID : 54335376702
Option 3 ID : 54335376701
Option 4 ID : 54335376703
Status : Answered
Chosen Option : 2
Q.2 N + .
s & 9 STen # grd FEA AT BT
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v 02
Question ID : 54335319123
Option 11D : 54335376748
Option 2 ID : 54335376750
Option 3 ID : 54335376751
Option 4 ID : 54335376749
Status : Answered
Chosen Option : 4
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Question ID : 54335319053
Option 11D : 54335376470
Option 2 ID : 54335376469
Option 3 ID : 54335376471
Option 4 ID : 54335376468
Status : Answered

Chosen Option: 3
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K4 8V3
Question ID : 54335319103
Option 11D : 54335376671
Option 2 ID : 54335376670
Option 31D : 54335376669
Option 4 ID : 54335376668
Status : Answered
Chosen Option: 3
062 FAT, TRET HaES ATH, WA B, @ qea (dfE) u ows (s & e auw
T 2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335319094
54335376633
54335376634
54335376632
54335376635
Not Attempted and Marked For Review
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X 2 IGH
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'+ CEF

Question ID : 54335319130
Option 1 ID : 54335376776
Option 2 ID : 54335376777
Option 3 ID : 54335376778
Option 4 ID : 54335376779
Status : Answered
Chosen Option: 4

Q.2 oz A e ¥ 9 6 OF F o AT ¥ =T B 52 15 ¥ F @Er & Tear §1 I I 9t @
TF TY WA AT §, a9 3% A gt & sy seen?

<18
v 210
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x49
Question ID : 54335319119
Option 11D : 54335376732
Option 2 ID : 54335376734
Option 3 ID : 54335376735
Option 4 ID : 54335376733
Status : Answered
Chosen Option : 2
Q.2 E Tufy ¥, 919 &7 5 Oog & gAae Apadl & Yed ¥ 3@ YN oFd §, aff B
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Question ID : 54335319067
Option 11D : 54335376526
Option 2 ID : 54335376525
Option 3 ID : 54335376527
Option 4 ID : 54335376524
Status : Not Attempted and Marked For Review
Chosen Option : --
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X 4. faega =mershar

Chosen Option :

Question ID : 54335319071
Option 1 1D : 54335376541
Option 2 ID : 54335376543
Option 3 ID : 54335376542
Option 4 ID : 54335376540
Status : Answered
Chosen Option: 1
Q.3 C +
1+ 506 3T 782 T HAEcdH HHAITISAS 4TI
Ans  of 1. 46
X2 22
X3 34
X 4 29
Question ID : 54335319100
Option 11D : 54335376657
Option 2 ID : 54335376656
Option 31D : 54335376658
Option 4 1D : 54335376659
Status : Answered
Chosen Option: 1
Q3 veh sifeharm STRER & Wigfehel el Y& Tk 0T Hr HT 13 Fhelr
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Question ID : 54335319137
Option 1 ID : 54335376804
Option 2 ID : 54335376807
Option 3 ID : 54335376806
Option 4 ID : 54335376805
Status : Answered

1

Q3 20 - 2 [25% of (15 x 8 + 6 + 12)] =




Ans of 1 4
X26
<310
X4 8

Question ID : 54335319097
Option 11D : 54335376647
Option 2 ID : 54335376644
Option 3 ID : 54335376646
Option 4 ID : 54335376645
Status : Answered

Chosen Option: 1
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&g g FT AdAF 'overdrive' gRET?
Ans X 1. eriteh
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Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335319125
54335376759
54335376758
54335376756
54335376757
Not Attempted and Marked For Review
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335319142
54335376827
54335376824
54335376825
54335376826
Not Attempted and Marked For Review

Ans X1 5
<210
V30
K43

°é,3 If8#12=10:5#9=7;6# 10 =28, then find the value of 14 # 4.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335319127
54335376766
54335376764
54335376765
54335376767

Not Attempted and Marked For Review

7 di@ 9 #) 2.5 Heg 59 35T &

Ans X 1.100.00%

Q.3 3@ fowt gomelr (qe e Fr gar A SifSw, Swer wifyw w25 @ div =g i #r 10 e
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Question ID : 54335319082
Option 1 ID : 54335376584
Option 2 ID : 54335376587
Option 3 ID : 54335376586
Option 4 ID : 54335376585

Status : Answered
Chosen Option : 2
Qé3 25 k0 F 37 TR W e (V) 7 HiSw, S 2mA & Rege o vearke @9 §
Ans i 15
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X 4125
Question ID : 54335319081
Option 1 ID : 54335376583
Option 2 ID : 54335376581
Option 3 ID : 54335376582
Option 4 ID : 54335376580

Status : Answered




l Chosen Option : 1
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Question ID : 54335319095
Option 1 ID : 54335376636
Option 2 ID : 54335376639
Option 3 ID : 54335376638
Option 4 ID : 54335376637
Status : Not Attempted and Marked For Review
Chosen Option : --

L v farsh dead # gren aAw e F R s aired ¥
fre X ofeweerm
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Question ID : 54335319064
Option 11D : 54335376513
Option 2 ID : 54335376512
Option 3 ID : 54335376515
Option 4 ID : 54335376514
Status : Answered
Chosen Option : 3
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Ans X 1. 25%,
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X 4 500%

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335319139
54335376815
54335376814
54335376812
54335376813
Not Attempted and Marked For Review

Rig (5e wigew) @ Aww e o ¥
Ans «1_ m

X 2 ZzeEius
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Q.4 IF F T = F B s & w8 O gt & waer fer S §1 oaw e eifes
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Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335319068
54335376531
54335376529
54335376530
54335376528
Not Attempted and Marked For Review

Ans X" 1. Bioremediation

v 2 Acclimation
/< 3. Bioaccumulation

/< 4. Cogeneration

Q.4 is the physiological adjustment by an organism to environmental change.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335319093
54335376629
54335376631
54335376628
54335376630
Not Attempted and Marked For Review

4 %

Ans X'1.1.5 mm
<25 mm
v': 3 mm
K41 mm

Q4 v FergEs @ (e wEe) % Y 7oAy 3 de e =& 3 1 mm =i g

Question ID : 54335319059
Option 1 ID : 54335376492




Option 2 ID : 54335376495

Option 3 ID : 54335376494

Option 4 ID : 54335376493
Status : Answered

Chosen Option : 3

Qé4 = fafeag fine 3= &, Sotes (3= e & 18 oy & sefF gafee (wemam) frae & 8 g &

TEEF (SEIY) ¥ WE 16 99T & v, g (weew) ew IR I B
Ans x 1.9
v 2 36
<318
X4 8
Question ID
Option 11D
Option 2 ID
Option 31D :
Option 4 ID
Status
Chosen Option :

: 54335319062
: 54335376507
: 54335376504

54335376506

: 54335376505
: Not Attempted and Marked For Review
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Ans 1. 3a4b5
< 2 3a45b
v 3 a345c
X 4. 3a45c

Q4 Grafafaa ved &, sert 3@k FEmst = #a o vag & 0 swer e TuE § FAnEn @ e

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335319122
54335376746
54335376745
54335376747
54335376744
Not Attempted and Marked For Review

7 gt ABE AL TIPSQ RS I T AT

At X1LP, SEraer
V2P, S H REr g
X3P, S HETE
X4P SH S ¢

Q4 g ASBF AR e FABFIAE AHBF AT e A BF AL T 3t A + B &

Question ID : 54335319128
Option 1 ID : 54335376768
Option 2 ID : 54335376771
Option 3 ID : 54335376770
Option 4 ID : 54335376769
Status : Answered




l Chosen Option : 2

Q4 AsiiB RgPafigo@ o aa i PR QFfafrgh o Bl 31 B, A ¥ 4 e
8 arg wow oW AT ¥ A, Q T IE & @ gt A sear ¥ 3R v RredeT T & 9e B @
e &1 3ft A 10 e # vw foaeT &1 gff a9 #=ar &, B & =\, Rrawe iy fEee &

T Hifee?
ans o 1. 1/12
X2 1/15
<3 1/6
<4 1/8
Question ID : 54335319084
Option 1 ID : 54335376592
Option 2 ID : 54335376595
Option 3 ID : 54335376594
Option 4 ID : 54335376593
Status : Not Attempted and Marked For Review
Chosen Option : --
Q.4 | .
9 VX + 0.24 = \/0.1296, X =T ATA 4T,
Ans - X 1.0.0012
<2012
v 3 0.0144
X 4 1.44

Question ID : 54335319116
Option 11D : 54335376722
Option 2 ID : 54335376721
Option 3 ID : 54335376723
Option 4 ID : 54335376720
Status : Not Attempted and Marked For Review
Chosen Option : --

LS g (-47) AR (2,3) ¥ T3 T DT F 7eW Rig F T 7w
ans X1 (2,4)
X 2 (-2,3)
'3 (-1,5)
X 4. (1,-5)

Question ID : 54335319113
Option 11D : 54335376708
Option 2 ID : 54335376709
Option 3 ID : 54335376710
Option 4 ID : 54335376711
Status : Not Attempted and Marked For Review
Chosen Option : --
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Ans

X116
X210
X312
v 14

Question ID : 54335319117
Option 1 ID : 54335376725
Option 2 ID : 54335376726
Option 3 ID : 54335376727
Option 4 ID : 54335376724
Status : Answered

Chosen Option : 4

Ans

Ene |

X 1.18 km/h
X 215 km/h
V2 16 km/h
X 4. 20 km/h

Q.5 wF Pyt-aee 78 A, o A un B Rer # 12 fE / ger B ww & v RiRea g qe e § ek
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Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

: 54335319107
: 54335376685
: 54335376687
1 54335376684
: 54335376686
: Not Attempted and Marked For Review
Chosen Option :
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K s gfeRrerkar

Ans x 1. 8
X2 7
<310
Vg
Question ID : 54335319115
Option 11D : 54335376716
Option 2 ID : 54335376718
Option 31D : 54335376717
Option 4 1D : 54335376719
Status : Answered
Chosen Option : 4
Qf'ca:mgﬁagﬁqﬁfm & 3feler FEATeT gt W TR war g
Ans 1. ATIHATS
v o TgdeT




Question ID : 54335319078
Option 11D : 54335376568
Option 2 ID : 54335376570
Option 3 ID : 54335376571
Option 4 ID : 54335376569
Status : Answered
Chosen Option: 3

%S aR 7 & 9HR F Feg X AR Y 7= & v wEews @i sewet
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3w R i e
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Ingredients

Ans 1. 25%
X 2 2250%
X 3 37.50%
v 4 20%

Question ID : 54335319140
Option 11D : 54335376816
Option 2 ID : 54335376819
Option 3 ID : 54335376817
Option 4 ID : 54335376818
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.5 37 99 Fr afFq (W &) 79 fiferw, = 30 fBee #F 1 = 9 & 90 Hex 9% F9T T@r Fhar &
(87T 1 100% AT o T g = 10 mis? #)

Ans 1. 50
X2 25
v 500
X 4 250

Question ID : 54335319055
Option 1 ID : 54335376476
Option 2 ID : 54335376478
Option 3 ID : 54335376479




Option 4 ID : 54335376477
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.5

Ans K T
v 2 ZeTHA
K 3 HTIaA
K4 g

7 e 9Fg @ F5d AU g g

Question ID : 54335319072
Option 1 ID : 54335376546
Option 2 ID : 54335376545
Option 3 ID : 54335376547
Option 4 ID : 54335376544
Status : Answered

Chosen Option : 2

% 3 e Yo B am A TRE B2
Ans x1m3:{

A X R v SlemfEhr Harew

v 2 e JEeT

X 3 FURE ATHAT & HAeT

X 4 SoFEIeE T3 TIAAT e #ASed

X 2 3ETR
W 3 ST
2
X 4 SR
Question ID : 54335319052
Option 1 ID : 54335376465
Option 2 ID : 54335376464
Option 3 ID : 54335376467
Option 4 ID : 54335376466
Status : Not Attempted and Marked For Review
Chosen Option : --
Q§5 T Ferer fFTE e (NSDC) s & ¥ T ST Ue WE=ieE-fae JEE

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335319047
54335376446
54335376444
54335376447
54335376445
Not Attempted and Marked For Review




% 1386 A2 gwer ATy T A I g (V) = 2
ans 21245

X2 105

X3 14

v 4 21

Question ID : 54335319104
Option 11D : 54335376675
Option 2 ID : 54335376673
Option 3 ID : 54335376674
Option 4 ID : 54335376672
Status : Answered
Chosen Option : 4

Q.6 & m1%, X 3T Y, ®HM 50 kmihr 3T 75 km/hr FT a1 A ¥ B @& & amr s £ 3% X
T ImawmdvyfgmioR s mm ey, FARBFaT &gl ol ¥

Ans 51800
V2 300
X 3. 400
X 4 600

Question ID : 54335319075
Option 1 ID : 54335376559
Option 2 ID : 54335376558
Option 3 ID : 54335376556
Option 4 ID : 54335376557
Status : Answered
Chosen Option : 3

Q.6 T 7T 37 INW H 37 o A TEAT F @ S e gherat iEEh e i afte & =
2

English saence | U=60
[\
oy

Maths

Ans X 1.9
X286
X312
v 3

Question ID : 54335319131




Option 11D
Option 2 ID
Option 31D

: 54335376782
: 54335376781
: 54335376783

Option 4 ID : 54335376780

Status : Not Attempted and Marked For Review

Chosen Option : --

Q.6 =g W reasg OT G 7 1/6 &) A g o R 3iEfer ot @ sw 90 kof & & TEAr W
3 3TH AR fRaar @A (qer Y Teeaete =T = 10m/s?)
Ans 1. 150 N
X29N
X315 N
<490 N
Question ID : 54335319065
Option 1 ID : 54335376518
Option 2 ID : 54335376519
Option 31D : 54335376517
Option 4 ID : 54335376516
Status : Answered
Chosen Option: 1
Q.6 125 gm amsgreET (Jg ) & ardreRToT #r fafde aed FeAT A SIS, A 7w sEe FavEe 196°C
o U 1 9 250 FF FOAT HEd HIT ¢
Ans X'1. 500
< 2 469
X 3 3125
v 4 200
Question ID : 54335319057
Option 1 ID : 54335376485
Option 2 ID : 54335376486
Option 3 ID : 54335376484
Option 4 ID : 54335376487
Status : Not Attempted and Marked For Review
Chosen Option : --

C afra-b=53ab= 14 ar a2 + b2 717 ST,

Ans o 1. 53
<219
X35
X 4 27
Question ID : 54335319112
Option 11D : 54335376705
Option 2 ID : 54335376706
Option 3 ID : 54335376707
Option 4 ID : 54335376704
Status : Answered
Chosen Option : 1




6 Fmr =R

Ans (1_

X2 33 F 9FF FTAS A A &l & T

X4 HTYAET ¥ Tgg I & T

X3 399 v O # Ao H w7 =T & T

Q.6 Fhferemra T=, Fo TrufAe Riftrear swel (FEe-Us atFw) # wiwg @ §1 57 g # Fw

WS 71 (F $rR) AT 377 vast F T80T F FH a1 F o

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

: 54335319086
: 54335376601
: 54335376600
: 54335376603
: 54335376602
: Not Attempted and Marked For Review
Chosen Option :

A R e
X 2 3aee HfEeT
X 3. HAET AT
X 4 3pufa g

Y rAh g Ao AT WE Faww

Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

54335319050
54335376459
54335376458
54335376456
54335376457
Not Attempted and Marked For Review

8  oftmdw (WU #) W A

As f 115
X22
X325
X a1

Q.6 5000 kg SeUAE & TF TF HT 25 mis B 35 m/s T AN TRAT ST ¥l SEET S I H @ arer

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

54335319087
54335376606
54335376605
54335376607
54335376604
Not Attempted and Marked For Review

% (0.12 - 0.0252) + (0.1 - 0.025) =




Ans o 1.0.125

<2 0.325

< 3 0.25

< 4 0.625
Question ID : 54335319098
Option 11D : 54335376649
Option 2 ID : 54335376651
Option 3 ID : 54335376648
Option 4 ID : 54335376650

Status : Answered
Chosen Option : 1
Jy . g =
Qo Find the value of 5 Sin©® — 2 CosecB, if© =30 .
Ans XK1 302

X223

V'3 32

K423
Question ID : 54335319114
Option 11D : 54335376712
Option 2 ID : 54335376713
Option 3 ID : 54335376715
Option 4 ID : 54335376714

Status : Answered
Chosen Option: 3

1T (ki #) v fifS
Ans X 1. 24
<2 48
<3 36
V12

Q.7 afy 750 N & T& @& 30 kg FeOaTT o U T F 16 m g% Bela &ar §, o B mar s

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335319061
54335376500
54335376502
54335376503
54335376501
Not Attempted and Marked For Review

Y 3 HERT B A S AR @ e F
ae 1. PRT
X 2 UWY
< 3 HJL
v+ VTR




Question ID
Option 11D
Option 2 ID
Option 31D

Option 41D :

Status

Chosen Option :

: 54335319135
: 54335376797
: 54335376798
: 54335376796
54335376799
: Answered

4

Ans 1. 11110000
# 2100000110
v': 11010100
X 4100011100

U7 2 sr=alr gEamat 1101111 3K 1100101 & et ¥

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

1 54335319096
1 54335376641
: 54335376642
: 54335376640
1 54335376643

Status : Not Attempted and Marked For Review
Chosen Option : --

ToF oA # 8°C #r gfy aehr ¥
At X 1.1.25 Jkg 'K
X2 5 JKT

X 3. 50 Jkg 'K!

v 4 250 JK!

Q‘.‘7 200 gm FEUAT T OF FEET (3F) F oA o A fifew, ofT =@ 2000 J FEAT R 99 W)

Question ID :
Option 11D :

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335319076
54335376563
54335376562
54335376561
54335376560
Answered

1

& Q = AT (A H) AT A
Ans X 1. 288

v'2 45

<316

X4 9

Q.7 zfy G smavw Q 7 8V fwEer @ @ Rgat & @ TuwiEiE s # B T s 36 S A

Question ID
Option 11D
Option 2 ID
Option 31D

: 54335319080
: 54335376576
: 54335376579
: 54335376578




Option 4 ID : 54335376577
Status : Answered
Chosen Option : 2

U g % @S B S FH A AR H
FROUT F TSF F F vF IS
X -HeaeT & F 38 areae H STSeT(EFsT seoen) Y o g, afee
Y - 3 IfSeT ¥ & 98T A4 AT FE, U
Z - w93 s T § HOgd 8
Ans X1 ZXY
v 2 YXZ
X 3. XZY
X4 ZYX

Question ID : 54335319141
Option 11D : 54335376820
Option 2 ID : 54335376823
Option 3 ID : 54335376822
Option 4 ID : 54335376821
Status : Not Attempted and Marked For Review
Chosen Option : --

Q7-7 FAY AR # s gl it I afeeen s B diem & w9 & #lE @ g vee e 2
Ans x1_ l__na_r

X 2 FET

X3 mfzTs

v i orfirmR

Question ID : 54335319091
Option 1 ID : 54335376620
Option 2 ID : 54335376622
Option 31D : 54335376623
Option 4 ID : 54335376621
Status : Answered
Chosen Option : 2

Q.7 v AfYwT 312 & BT 51 ¥ of% DIRTY = 24759 3T FOAM & 1863 & w7 & fr@r #ram & ar

8 I 3= F IENT HH ARD F & w9 #F fv@r swm
Ans - 1. 2489

< 2. 9165

< 3. 1579

v 4 6742

Question ID : 54335319124
Option 1 ID : 54335376753
Option 2 ID : 54335376752
Option 3 ID : 54335376755
Option 4 ID : 54335376754




Status : Answered
Chosen Option : 4
°é7 2 FF ST AT T F TH F FEAAA A RS (Y F GAeT 7.8 gmiem’ §)
Ans X 1.15.6 gm
X 2 0.975 gm
v 3 62.4 gm
X 4 3.9 gm
Question ID : 54335319060
Option 1 ID : 54335376499
Option 2 ID : 54335376496
Option 3 ID : 54335376497
Option 4 ID : 54335376498
Status : Answered
Chosen Option : 3
Q.8 :
o S FTRr W HRT § 3H I
Ans of 1. TTH
X2 Rar
X 3 94
X4 o
Question ID : 54335319136
Option 1 ID : 54335376803
Option 2 ID : 54335376800
Option 3 ID : 54335376802
Option 4 ID : 54335376801
Status : Answered
Chosen Option : 1
Q.8 Find the specific heat capacity (in Jg'IK'l) of a block of metal of mass 500 g, the temperature of which rises by 80 °C
1 when it absorbs 10 kJ of heat?
Ans X1, 0.16
X204
V'3 0.25
X 4 1.56
Question ID : 54335319077
Option 11D : 54335376565
Option 2 ID : 54335376566
Option 3 ID : 54335376567
Option 4 ID : 54335376564
Status : Answered
Chosen Option : 3

2 uar } G e W ShEeE wwT BT

Q.8 ofy F1¥ gFFER T 2,700 T T T aFg A=A §, A 9E 8% TS AT g1 A 97 T 3,000 W IE




ans K112

< 2 25

<310

v 4 20
Question ID : 54335319109
Option 11D : 54335376692
Option 2 ID : 54335376693
Option 3 ID : 54335376694
Option 4 ID : 54335376695

Status : Answered
Chosen Option: 1
Qéa ralod # & RFE wdend! &1 AUUNTIE EaT WIed o JUeN § FFATd fohal 1aT?
Ans

r %TIII' e

< 2 Fterg

K3 gemeta ¥

v e ge T
Question ID : 54335319048
Option 1 ID : 54335376449
Option 2 ID : 54335376448
Option 3 ID : 54335376451
Option 4 ID : 54335376450

Status : Answered
Chosen Option: 4

U8 weR T T T €, sEe A g awone | AR 01 & 7S g
TYRT YT FT T ATAAT g, Hol &7 I FAT & § A9
M T TR I e FRrIw e A
T ST 9 groT AffET ¥ ¥ K $r 1 FHar 2

FU:

"R TEATAT 3TeNT 9T 9iEve] @R & 9 H Fea
forar T 21 vAFE fr AH gfew 380 @ = afora
TEJ A I M9 IR E&: g7 T g Sreem” -

ﬁgﬁ?rq?a:rahn

ATAATT:
|. TH T 3ifaw7 e TF vEEie F HAGT FT TH I=T
THIT 2|

Il T SfRegei #F FFurl AuR W FgF G S g
MK arom | HR 1 | @t sEfRfeT &




X 2 haer arroT | | 3EEfea &
Xegarawor | S a & || affRa ¥
v 4 e uoT | dafEted &

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

: 54335319138
: 54335376811
: 54335376809
: 54335376810
: 54335376808
: Not Attempted and Marked For Review
Chosen Option :

5

Ans

CAECURE T
X 1. ATET
v 2 T
X 3. FgTer
X o s

Q.8 7 faweT & T H S W Ag T I THER TEOT § o TR IR e B g § HefT &

Question ID : 54335319121
Option 11D : 54335376743
Option 2 ID : 54335376742
Option 3 ID : 54335376740
Option 4 ID : 54335376741
Status : Answered
Chosen Option : 2
Q.8 A srar 35 AT # v F4 FC HebaT ¢ HR B 3 3ber 14 Rt F w wwar 21 o 3 o 5 &A
6 xfvew wwTE Oy FE T A w1 e o wr ¥
Ans o 1. 3TeIT
X 2 terg
X s & dtars
X 4w T
Question ID : 54335319105
Option 11D : 54335376679
Option 2 ID : 54335376676
Option 3 ID : 54335376677
Option 4 ID : 54335376678
Status : Answered

Chosen Option: 1

Q.8




FUA ¢ T FE W &

FUF 2 T TS TAE &

oy I FT v fEa 3 d
ey |1 wsh 3w v e E
ey I 3% g FEw &9 78§

MK Faer g | Ak 1 s @
X 2 saa fasss 1l g g
X s s |, 11 3R I |l @y gl
v ¢ Faer frsey | @y gem

T H, & Fue fEv v §, 3uF 91g O Ty |, 1 HT 1 e e ) e 9t #F #eF AT §, A

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335319133
54335376790
54335376789
54335376791
54335376788
Answered

4

8 @ wh @ e

Ans X 1. RA = Lo
<2 ¢ =RLA
X3 RL=Ac
v 4 RoA =L

Q.8 Trwfafaa & & #ia gt 'R, Iwsar o), siag L' 3R o1g § 9% & H@ deu A & &96d 5

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 1D

: 54335319058
: 54335376489
: 54335376490
: 54335376491
: 54335376488

Status :
Chosen Option :

Answered
4

% et Sfw # afrser ae B o
Ans x1ﬁ1 ﬂaﬁ_\q_




v o oEr =
X 3 FfeaT FoT
X 4 T eEs

Question ID : 54335319049
Option 1 ID : 54335376455
Option 2 ID : 54335376454
Option 3 ID : 54335376453
Option 4 ID : 54335376452
Status : Not Attempted and Marked For Review
Chosen Option : --

Q) g e aw d v A A TFT P Aa e, T+ Fr wEd FW AT, F Y
0 oo T o ¥ 3l X @ 2 S ced T ST ¥ TS 9o 9T 3eat Wig ST
12+6-2+10x5=7?

ans X1 50
X216
Vs 37
X 23

Question ID : 54335319126
Option 1 ID : 54335376763
Option 2 ID : 54335376760
Option 31D : 54335376762
Option 4 ID : 54335376761
Status : Answered
Chosen Option : 3

Q.9 wer ol w1 AR S0 T 12,600 &, 3 9% SHET 5/7 ST W &Y & &1 Ay SHH aad 1/3 9%

T S ¥ st = & s59= @ ¥ 1/6 & o7 &7 g @7 N §, A 379 9 T Ia 7 e A
=T 9IeaT?

Ans X 1. 8/15
v 2 5/14
X3 7/16
X4 7/15

Question ID : 54335319099
Option 1 ID : 54335376654
Option 2 ID : 54335376652
Option 3 ID : 54335376655
Option 4 ID : 54335376653
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.9 37 RFeT &1 987 F S fAY g T W TER FEE § Ow TR g@w e e g @ TS #
2 oy Rww w2

Ans X1 gfeem
X 2 gAaR
X 3. gER




Question ID : 54335319120
Option 1 ID : 54335376737
Option 2 ID : 54335376738
Option 3 ID : 54335376739
Option 4 ID : 54335376736
Status : Answered
Chosen Option : 4

%0 210 BT x 297 B IR & FETA (I9) B AT
Ans X1 A3

v A4

X3 A2

X4 At

Question ID : 54335319056
Option 1 ID : 54335376480
Option 2 ID : 54335376483
Option 3 ID : 54335376481
Option 4 ID : 54335376482
Status : Answered
Chosen Option : 2

Q.9 =i A, B 3t C Fman 12, 18 3R 36 R & v F% # 3Fe W R THA & T WY 2 A ¥ Frw
TF W FH I 8, O B FF 05 & 81 A 3 C wF 91 F17 = © aF 90 F F Fraw A
#9067

Ans «1' 6

X2 4
X3 9
X4 3

Question ID : 54335319106
Option 1 ID : 54335376682
Option 2 ID : 54335376681
Option 3 ID : 54335376680
Option 4 ID : 54335376683
Status : Answered
Chosen Option: 1

% @€ o o & g$ i e & g & & For F=@w g
Ans o 11050

X 2 750

X 31200

X 4. 900

Question ID : 54335319118
Option 1 ID : 54335376729
Option 2 ID : 54335376728




Option 3 ID : 54335376731
Option 4 ID : 54335376730
Status : Answered
Chosen Option : 1
Q.9 falr e W Tger A gEL A9 & 3T F TeRgfe s W AT T A T 1,350 R 21,458 §,
6 orzmreaw g
A of 1. 08%
< 2 15%
<3 12%
X 4 10%
Question ID : 54335319108
Option 11D : 54335376690
Option 2 ID : 54335376691
Option 3 ID : 54335376689
Option 4 ID : 54335376688
Status : Answered
Chosen Option: 1
Q.9 If the speed of a car increases from 54 kmv/hr to 90 kmv/hr, its kinetic energy would increase in the ratio
7
Ans 1. 4/9
V2 925
K3 3/5
X 4 9/16
Question ID : 54335319074
Option 1 ID : 54335376553
Option 2 ID : 54335376555
Option 3 ID : 54335376552
Option 4 ID : 54335376554
Status : Not Attempted and Marked For Review

Chosen Option :

Qé9 AfE 90 OC QT aTer HTET e T T # 10 OC A9 e 9 die #eT 82 e & 9y
fremar e 8, & F1% s afa 7 @ 9, #faw sgee aEe (OC #H) e s

Ans 1. 50
v'2 20
X 3 30
X 4 40

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335319085
54335376599
54335376596
54335376597
54335376598
Not Attempted and Marked For Review

Q.9




9 N T Rr T AN BT TR Sy s ey PR

T ST T B

FUA: T ToaT & TU-ITT e F BT F wlEAT I6F & 7T

forand |: @R % 38 39AeT 5 @y, F 3E Boer 99 & geat # 980 8

e |I: Y =T 30 2 et F afrsy & FF of o e ouw = TEe 6 R

TR

K. e s I W g §
Veaar |l dRaE Il e Ea g

X3 | RN et wey grar §
X 4 Fae fassy | a8 g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335319144
54335376833
54335376834
54335376835
54335376832
Not Attempted and Marked For Review

% TE Fr o S A @ s A

Ans

i

9]

H

F 40

o
o =
m

=
I
]

X 2

vilr o

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335319134
54335376793
54335376795
54335376792
54335376794
Not Attempted and Marked For Review

Section : Mechanic Diesel




Ans x1_+é '+ﬂ ﬂ
X 2. 32 T F e BT

v o TTera A seegese

¥ 38 Fueh Raweranat @ TET FROT FA BT 27

X s Toegd HOueT (FelIeEe) H 359 TR

Question ID : 54335319167
Option 1 ID : 54335376925
Option 2 ID : 54335376924
Option 3 ID : 54335376926
Option 4 ID : 54335376927
Status : Answered

Chosen Option : 4

Y Rretaf@e R F wiia & & s S

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335319200
54335377057
54335377059
54335377058
54335377056
Not Attempted and Marked For Review

@3 A two - stroke diesel engine is used in:
Ans o 1. Marine application

7< 2. road transport vehicles

X 3. fork lift

/< 4. Spacecraft

Question ID : 54335319162




Option 1 ID : 54335376906
Option 2 ID : 54335376904
Option 3 ID : 54335376905
Option 4 ID : 54335376907
Status : Answered

Chosen Option : 1

Q4 Expand the term VTVT.

Ans X 1. Variable Valve Timing and Lift Electronic Control
7< 2. Variable Valve Variable Timing
/< 3. Variable Valve Timing

« 4 Variable Timing Valve Train

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335319207
54335377086
54335377085
54335377087
54335377084
Not Attempted and Marked For Review

Q.5 #FiAa 7 solee saFa H, Sua B YUTeT ¥ e @7 et # ¥ e e8 # soetiug G

: 54335319214
: 54335377113
: 54335377112

54335377115

: 54335377114

Not Attempted and Marked For Review

AT ST §?

Ans x1_
v &3
X 3
X 4

Question ID

Option 1 ID

Option 2 ID

Option 31D :

Option 4 ID

Status :

Chosen Option :

* quteRT IR 8 w1 amfEE A frae g §7

Ans X1.0.290
X21.110
<3.1.200
V4 1.290

Question ID : 54335319165
Option 1 ID : 54335376917
Option 2 ID : 54335376919




Option 31D :
Option 41D :
Status :

Chosen Option :

54335376918
54335376916
Not Attempted and Marked For Review

e X R Rt
v o e Tafa
X3 o7 g
X4 gr ot

Q.7 5w gwr #r EGR Jumelr &, EGR === # T=feg A F B g5 dvmy w1 saaer B S

ol

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

54335319217
54335377126
54335377124
54335377127
54335377125
Not Attempted and Marked For Review

= R FT I9AET BT ST

e X 3% Fr FEa F T
X 2 gee 3R @ # gEmfeT == & T
v gee 3k T 7 FEa F R
X4 gt & FEa F T

Question ID : 54335319148
Option 1 ID : 54335376850
Option 2 ID : 54335376851
Option 31D : 54335376848
Option 4 ID : 54335376849
Status : Answered

Chosen Option : 3

Ans X 1. CH; COOH
v 2 H,S0,

X 3 NaCl

X 4 HNO;

Q.9 35 ofes ¥h # Jaga sue (sowdeTse) & w9 & walaf@a # & fwer waer fsar s 22

Question ID : 54335319187
Option 1 ID : 54335377007
Option 2 ID : 54335377005
Option 3 ID : 54335377006
Option 4 ID : 54335377004
Status : Answered

Chosen Option : 2




%' Rresr fr TDC & BDC & &7 71fa ¥ &gl A1 &
Ans «1@3;

X 2 FegAfes TERITE (FaaatadT gaTa)

X 3 BHP
X o oo JiegH
Question ID : 54335319185
Option 11D : 54335376996
Option 2 ID : 54335376998
Option 3 ID : 54335376999
Option 4 ID : 54335376997
Status : Answered
Chosen Option : 1
U GrltET # @ e a9 & e (REREd) 9 ssuaa ger 27
Ans X 1. SAE - 30
v 2 SAE - 120
/3 SAE - 5
< 4 SAE - 90
Question ID : 54335319175
Option 1 ID : 54335376957
Option 2 ID : 54335376959
Option 3 ID : 54335376956
Option 4 ID : 54335376958
Status : Answered
Chosen Option : 2
1 5
e . TET U FeA F AT IgFa Faa 3TR0T (FT ) ¢
Ans x 1 é'q'
X2 @Be
LA s
v g
Question ID : 54335319203
Option 11D : 54335377071
Option 2 ID : 54335377068
Option 3 ID : 54335377069
Option 4 ID : 54335377070
Status : Answered
Chosen Option : 4
Q.1




=y & gefia 39T 1 A1 7= 82
"X wE ()

X2 T =

X 3 TFIER (TFE)

v giee T

Question ID : 54335319186
Option 1 ID : 54335377001
Option 2 ID : 54335377002
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